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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

la 1681 3.7 1.1 5 74.5 99.3

Question

80 90 100

Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Section B

Choose one of the following options

Option 1 Families and Households

Compulsory question

2. (a) 0] Describe the features of a traditional nuclear family. [10]

Answers should include accurate knowledge points for band 3 AOL.

Points should be supported with examples and/or evidence. For band

3 AO2 a clear explanation of the examples/evidence should be

present.

Indicative content

e A family group consisting of two generations — parents and
children.

e Traditionally based on marriage, heterosexuality and a traditional
division of labour.

e Women fulfil the expressive role and men the instrumental.

e The parents are seen as the primary socialising agent of the
children.

Band AO1 AO2
elements la & 1b element la
5-6 marks 4 marks

Answers demonstrate detailed
knowledge and understanding of

Answers demonstrate a detailed ability
to select, apply and interpret appropriate

concepts/evidence relating to the
context of the debate/question.

sociological theories/ concepts/ sociological theories/ concepts/ evidence
evidence relating to the context of | in the context of the debate/question.
the debate/question.
3-4 marks 2-3 marks
Answers demonstrate some Answers demonstrate some ability to
knowledge and understanding of | select, apply and interpret appropriate

2 sociological theories/ concepts/ sociological theories/ concepts/ evidence
evidence relating to the context of | in the context of the debate/question.
the debate/question.
1-2 marks 1 mark
Answers demonstrate basic Answers demonstrate a basic ability to
knowledge and understanding of | select, apply and interpret appropriate

1 sociological theories/ sociological theories/ concepts/ evidence

in the context of the debate/question.

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.






(i) Statistics and research show that there is an increase in the number of
women who do not have children. In 1985 11% of women over the
age of 45 had not had a child. In 2005, the figure was 18%.
Explain two sociological reasons for the increase in women who do
not have children. [15]
There should be two reasons supported by evidence. There should be
an explanation of each point in relation to the focus of the question.
For band 4 AO1 there should be two reasons with supporting
evidence/examples for both. For band 4 AO2 a clear explanation of
the reasons and supporting evidence/examples should be present.
Indicative content
Expect two reasons with explanations of their influence on the
increase in women who do not have children.
e Feminisation of the workforce; the growth in career opportunities
for women.
¢ Female independence and opportunities — Scare.
e Creative singlehood — Hall et al.
¢ Wilkinson — genderquake.
e Demographic change.
e Changing values / secularisation.
Band AO1 AO2
elements la &1b element la
9-10 marks 5 marks
Answers demonstrate detailed Answers demonstrate a detailed ability to
knowledge and understanding of | select, apply and interpret appropriate
4 sociological theories/ concepts/ sociological theories/ concepts/ evidence
evidence relating to the context of | in the context of the debate/question.
the debate/question.
6-8 marks 3-4 marks
Answers demonstrate some Answers demonstrate some ability to
knowledge and understanding of | select, apply and interpret appropriate
3 sociological theories/ concepts/ sociological theories/ concepts/ evidence
evidence relating to the context of | in the context of the debate/question.
the debate/question.
3-5 marks 2 marks
Answers demonstrate basic Answers demonstrate a basic ability to
knowledge and understanding of | select, apply and interpret appropriate
2 sociological theories/ sociological theories/ concepts/ evidence
concepts/evidence relating to the | in the context of the debate/question.
context of the debate/question.

© WJEC CBAC Ltd.






1-2 marks

Answers demonstrate limited
knowledge and understanding of
sociological theories/ concepts/
evidence relating to the context of
the debate/question.

1 mark

Answers demonstrate limited ability to
select and/or interpret and/ or apply
sociological theories/ concepts/ evidence
in the context of the debate/question.

0 marks
NRSP

0 marks
NRSP

© WJEC CBAC Ltd.
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Sticky Note

This answer is focused on the question from the start. 
All candidates should ensure they do that. It will keep them focused and also flag up to the examiner that they know what the question is asking them to do.



Sticky Note

A clear summary of some of the main features. 



Sticky Note

All candidates should be encouraged to use the words of the question at the start of paragraphs in these 10 mark questions.



Sticky Note



Sticky Note

The use of theory in 2(a) (i) or 3(a) (i) is not essential but if used it should be accurate. The candidate is refering to Murdoch here not Parsons.



Sticky Note

Note the candidate has started this paragraph with the specific words from the question.  



Sticky Note

Accurate reference to theory here.
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Sticky Note

Although there was an imprecise reference this candidate has done enough to gain full marks. There is detailed K and U and detailed ability to select and interpret relevant material.
AO1 6/6 AO2 4/4
Total 10/10



Sticky Note

Not necessarily. The candidate would have done better by starting with line 6.
These 2a (ii) and 3a (ii) questions need to be clearly structured. A clear structure will help the candidate to structure their thinking and also help the examiner.  



Sticky Note

This first reason is clear, accurate and supported by sociological evidence. The evidence is detailed and applied to the reason identified. In order to access the top mark bands there should be sociological evidence for both reasons identified.



Sticky Note

This reference to the birth rate misses the point of the question and also demonstrates the candidate has not understood what the short stimulus piece said.
Candidates must take time to read the stimulus material and think about it rather than making assumptions.
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Sticky Note

A reason identified but the explanation focuses on the historical rather than the contemporary UK.
The notion of children as an economic liability needs to be developed with relevant, accurate and contemporary evidence.



Sticky Note

This does not necessarily follow from the previous sentence.
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Sticky Note

The first reason is excellent but the second is weak and therefore the answer is in mark band 3 for AO1 and AO2.
AO1 8/10 AO2 3/5
Total 11/15
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Sticky Note

This is an extremely short answer but it is focused throughout.

The key features of a traditional nuclear family have been identified but not developed.

In order to access the top mark bands candidates must explain the features asked for in these 2a(i) and 3a (i) questions.



Sticky Note

AO1 some K and U therefore 3/6 which is the bottom of MB 2 and AO2 is basic so therefore 1/4.

Total 4/10
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Sticky Note

This first reason is good and it has been developed in terms of examples. Reasons that are clearly explained with examples will be able to access mark bands 2 and 3 but not 4. To access the top mark band sociological evidence is required.
Candidates should consider compiling booklets of evidence for all the key concepts relevant to families and households or youth culture. 



Sticky Note

The issue of divorce is clearly not an explanation for having less children.
This is an example of a candidate not reading the stimulus material at the start of the question carefully.



Sticky Note

This second reason is essentially the same as the first reason identified by candidate A but it is not developed as well as candidate A's.  There is an example but no sociological evidence.
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Sticky Note

3 reasons have been identified the one on divorce has been ignored and the first and third have been taken. The first reason is developed more than the third. Both have examples therefore mark band 3 for AO1 and AO2.

AO1 7/10 AO2 4/5
Total 11/15 
















SECTION B
Choose one of the following options.

Option 1 Families and Households

Compulsory question

2. (3

(i)
(ii)

Describe the features of a traditional nuclear family. [10]

Statistics and research show that there has been an increase in the number of
women who do not have children. In 1985, 11% of women over the age of 45 had
not had a child. In 2005, the figure was 18%.

Explain two sociological reasons for the increase in women who do not have
children. [15]

B200U101
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Section C

4. (a) 0] Summarise the content of the item showing the relationship between
free school meals [FSM] and attainment in education. [10]
Answers should include accurate knowledge points for band 3 AO1.
Points should be supported with examples from the item.
Indicative content
Expect to see reference to a range of points
For band 3 AO2 a clear summary of the examples should be present
this will ensure comparability between 4(a) (1) and 5(a)(i) and 6(a)(i)
¢ Reference may be made to differences in attainment between
FSM and non FSM.
¢ Reference may be made to specific differences between different
ethnic groups and FSMs in relation to educational attainment
e Reference may be made to where differences between different
ethnic groups and educational attainment and FSMs are most
evident
e Points made should be supported by accurate statistics drawn
from the data.
Band AO1 AO2
elements la & 1b element la
3 4 marks 5-6 marks
Answers demonstrate detailed Answers demonstrate a detailed ability
knowledge and understanding of to select, apply and interpret appropriate
evidence relating to the context of the evidence in the context of the question.
question.
2 2-3 marks 3-4 marks
Answers demonstrate some knowledge | Answers demonstrate some ability to
and understanding of evidence. select, apply and interpret appropriate
relating to the context of the question evidence in the context of the question.
1 1 mark 1-2 marks

Answers demonstrate basic knowledge
and understanding of evidence relating
to the context of the question.

Answers demonstrate a basic ability to
select, apply and interpret appropriate
evidence in the context of the question.

0 marks
NRSP

0 marks
NRSP
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4. (a)

(i) Explain two sociological reasons for the relationship between ethnicity
and attainment in education as shown in the item. [10]

There should be two sociological reasons with effective use of
sociological language (AO1 band 3). At least one reason will be
supported by sociological evidence (AO2 band 3). Two reasons for the
same pattern/trend are acceptable.

Indicative content

There should be two different reasons which will be linked to the data
in the graph such as:

e Culture and the different expectations of different ethnic groups.
e racism
e material deprivation
e cultural deprivation
e labelling.
e stereotyping.
¢ changes in social policy and/or legislation if appropriate.
¢ Reference should be made to appropriate empirical evidence
and/or examples.
Band AO1 AO2
elements la & 1b element la
5-6 marks 4 marks
Answers demonstrate detailed Answers demonstrate a detailed
knowledge and understanding of | ability to select, apply and interpret
3 sociological theories/ concepts/ appropriate sociological theories/
evidence relating to the context of | concepts/ evidence in the context
the debate/question. of the debate/question.
3-4 marks 2-3 marks
Answers demonstrate some Answers demonstrate some ability
knowledge and understanding of | to select, apply and interpret
2 sociological theories/ concepts/ appropriate sociological theories/
evidence relating to the context of | concepts/ evidence in the context
the debate/question. of the debate/question.
1-2 marks 1 mark
Answers demonstrate basic Answers demonstrate a basic
knowledge and understanding of | ability to select, apply and interpret
1 sociological theories/ appropriate sociological theories/
concepts/evidence relating to the | concepts/ evidence in the context
context of the debate/question. of the debate/question.
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.
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Sticky Note

An accurate point but no statistics to support it. In order to access the top mark bands candidates must back up their points with the data.



Sticky Note

Another accurate point which is supported however the claim of 8% higher is inaccurate. It is 8 percentage points. Candidates must learn the difference between percentage differences and percentage point differences. This applies to all three options in this section.



Sticky Note

This paragraph makes a number of accurate points supported by relevant statistics. But the difference cited in the last line is 12 percentage points.   



Sticky Note

The use of biggest, smallest, highest, lowest is useful although there must be some reference to the data. 




Sticky Note

Another statistical error. Candidates might be advised to go to the ONS website and consider how the term percentage points difference is used there.



Sticky Note

The candidate has made a number of detailed relevant points so therefore AO1 4/4 but the inaccurate statistics
means AO2 is mark band 2. Some ability to select and interpret evidence. 
4/6 
Total 8/10  
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Sticky Note

Material deprivation is provided as a reason and linked to the item  



Sticky Note

Although Douglas is dated it is relevant sociological evidence. It is not simply cited but explained. When citing evidence it is essential that candidates explain the relevance. 



Sticky Note

A second reason though less well developed than the first and by 'lumping' all Asians together does not acknowledge the difference between for example Chinese pupils and those from Pakistani backgrounds.   



Sticky Note

Overall a good answer which is top mark bands for AO1 and AO2.

AO1 5/6 AO2 4/4

Total 9/10
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Sticky Note

Some lack of clarity here.




Sticky Note

As with script A candidates must use accurate statistics. This 30% should be 30 percentage points. 



Sticky Note

The question asks the candidates to summarise the content of the item not to give reasons for what the data is  implying. This applies to all of the options in this section. the 4,5 and 6 a (ii)s ask for reasons. 



Sticky Note

there is a lack of statistics here to support this point.



Sticky Note

Another example of providing a reason.
This is a long paper and candidates must focus on the specifics of each question in order to use their time effectively. 



Sticky Note

Inaccurate - see point above regarding percentage points.



Sticky Note

Two more inaccurate statistics in this paragraph.



Sticky Note

This candidate demonstrates some K and U and some ability to select and interpret data.

AO1 3/4 AO2 3/6
Total 6/10
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Sticky Note

Two relevant sociologists used to support this first explanation.



Highlight



Highlight



Sticky Note

The point is linked to the item. Depending on the wording of the question this is good practice. 



Sticky Note

Lacks development.

Inaccurate reference to the data.



Sticky Note

The first reason is better than the second and therefore although that is detailed the answer overall fits Mark band 2 descriptors. 

AO1 4/6 AO2 3/4
Total 6/10 
















SECTION C
Choose one of the following options.

Option 1 Education

Compulsory question

4. (a) Study the following item and answer the questions.

The relationship between free school meals [FSM] on attainment in education by ethnic group.

Percentage of students reaching GCSE threshold by ethnic
group, FSM vs. non-FSM

90%

80%

70%

60% |

50%

40%

30%

20%

10%

0%
° White Black Pakistani Black Indian Bangladeshi Chinese
British  Caribbean African

[ INon-Fsm [ Fsm

Source: adapted from www.education.gov.uk 2012

(i) Summarise the content of the item showing the relationship between free school
meals [FSM] and attainment in education. [10]

(i) Explain two sociological reasons for the relationship between ethnicity and
attainment in education as shown in the item. [10]

© WJEC CBAC Ltd. (B200U10-1)
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4. (b) 0] Using sociological evidence and examples, explain the meaning of the
term labelling in education. [10]
AO1 band 3 answers will contain accurate knowledge points, one of
which will be an accurate definition of the term. For band 3 AO2,
answers should demonstrate sound understanding through detailed
examples and/or supporting evidence.
Indicative content
A clear understanding of the meaning of labelling.
Answers may make reference to some of the following;
¢ Interactionist ideas about labelling such as Becker, Hargreaves.
e The link between labelling and self-fulfilling prophecy with
reference to examples such as Rosenthal and Jacobson.
e Stereotyping; Keddie.
e The link between social characteristics and the notion of the ideal
type pupil.
e The possible impact on educational outcomes.
¢ Resistance to labels and counter school cultures (Mirza, Wright,
Akom).
Band AO1 AO2
elements la & 1b element la
5-6 marks 4 marks
Answers demonstrate detailed Answers demonstrate a detailed
3 knowledge and understanding of ability to select, apply and interpret
sociological theories/concepts/ appropriate sociological
evidence relating to the context of theories/concepts/evidence in the
the question. context of the question.
3-4 marks 2-3 marks
Answers demonstrate some Answers demonstrate some ability to
2 knowledge and understanding of select, apply and interpret
sociological theories/concepts/ appropriate sociological
evidence relating to the context of theories/concepts/evidence in the
the question. context of the question.
1-2 marks 1 mark
Answers demonstrate basic Answers demonstrate a basic ability
1 knowledge and understanding of to select, apply and interpret
sociological theories/concepts/ appropriate sociological
evidence relating to the context of theories/concepts/evidence in the
the question. context of the question.
0 marks 0 marks
NRSP NRSP

© WJEC CBAC Ltd.
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4. (b)

© WJEC CBAC Ltd.

(ii)

Evaluate the view that social class is the most important reason for
differences in attainment in education. [25]

Answers will make judgements of the sociological concept, theory,
controversy or sociological debate. The answer will focus on the
relevant debate in the question. Credit will be given to the effective
use of supporting sociological evidence/theories and concepts. There
will be an evaluative and analytical tone throughout. Where answers
demonstrate all abilities to the highest standard then they will be
consistent with Band 4. However answers demonstrating knowledge
but fewer skills of assessment, judgement and evaluation may achieve
Band 4 for AO1 but lower bands for AO2 and AO3.

Indicative content

The focus of the answer should be on the significance of social class
to educational success. The focus of the answer may be the Marxist
view and/ or on evidence of the link between social class and
attainment. Expect to see the notion of meritocracy used to argue that
all children have the opportunity to succeed regardless of social class
which may be linked to functionalist theories of education.

e There may be a focus on Marxist ideas such as Althusser, Bowles
and Gintis, Bourdieu and Sullivan.

e The impact of material factors should be examined in relation to
the debate.

e Alternative ideas such as inside school factors; labelling, self-
fulfilling prophecy may be explored in relation to the importance of
social class.

e Factors such as gender and ethnicity may be explored.

e Reference may be made to the development of education
structures in the UK in terms of ensuring a more meritocratic
system and an appraisal of the success of these policies in relation
to the significance of social class.

e Expect to see alternative theories used to evaluate the view.

20





Band AO1 AO2 AO3
elements la & 1b element la strands 1-3
8-9 marks 4 marks 10-12 marks
Answers demonstrate Answers demonstrate Answers demonstrate
detailed knowledge and accurate and relevant detailed, well organised and
understanding of selection of appropriate logical arguments. Logical
4 sociological sociological theories/ judgements and conclusions
theories/concepts/evidence | concepts/evidence. These will be offered based on
relating to the context of the | are applied and interpreted | explicit evaluation of the
debate/question. in the context of the relevant theories/concepts/
debate/question. evidence examined.
5-7 marks 3 marks 7-9 marks
Answers demonstrate some | Answers demonstrate some | Answers demonstrate
knowledge and accurate and relevant some, well organised and
understanding of selection of appropriate logical arguments.
3 sociological theories/ sociological theories/ Judgements and
concepts/evidence relating concepts/evidence. Some of | conclusions offered will
to the context of the which are applied and show some evaluation of
debate/question. interpreted in the context of | the relevant theories/
the debate/question. concepts/evidence
examined.
2-4 marks 2 marks 4-6 marks
Answers demonstrate basic | Answers demonstrate a Answers demonstrate basic
knowledge and basic ability to select, apply | arguments. Judgements
5 understanding of and interpret appropriate and conclusions offered will
sociological theories/ sociological theories/ show basic evaluation of the
concepts/evidence relating concepts/ evidence in the theories/ concepts/
to the context of the context of the evidence examined.
debate/question. debate/question.
1 mark 1 mark 1-3 marks
Answers demonstrate Answers demonstrate Answers demonstrate
limited knowledge and limited ability to select limited argument. Any
1 understanding of and/or interpret and/ or judgements and conclusions

sociological theories/
concepts/evidence relating

apply sociological theories/
concepts/evidence in the

offered will show limited
evaluation of any theories/

to the context of the context of the concepts/evidence
debate/question. debate/question. examined.

0 marks 0 marks 0 marks

NRSP NRSP NRSP

© WJEC CBAC Ltd.
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Sticky Note

A good start by defining the concept. This would have benefited by further development including a reference to the work of say Becker.



Sticky Note

A relevant study though in need of development.
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Sticky Note

A rather brief answer candidates might be expected to write about a side of A4  of accurate and relevant sociology in order to access the top mark bands. This answer demonstrates some K and U and some ability to select and apply relevant material and is therefore in mark band 2 for both assessment objectives. AO1 3/6 AO2 2/4
Total 5/10 



Sticky Note

An assumption that labelling and material deprivation are the only two relevant factors.
 



Sticky Note

Relevant K and U in this paragraph but it is not supported by sociological evidence. 
A common error on this paper is that of making claims but not backing them up with relevant writers/sociological research. 
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Sticky Note

It is good practice to link each paragraph to the question.



Sticky Note

This is a well focused paragraph and the point made is supported by the work of Keddie.



Sticky Note

The candidate has moved from class to gender. Reference is made to a relevant sociologist but there is no link to the specifics of the question rather it is juxtaposed evaluation.
A common error in the essay questions on this paper is to juxtapose evaluation rather than sustain it throughout. Each paragraph in an essay should make a claim support it with evidence then evaluate it and then come back to the claim/specifics of the question.
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Sticky Note

Reference is made to ethnicity in the introduction and the conclusion but no explicit point is made in the body of the essay although Sewell's work could have been linked to ethnicity as well as gender. 



Sticky Note

The essay is basic. Apart from the introduction and conclusion which are slightly repetitive. There are three paragraphs only two of which  specifically address the issue of social class.  

AO1 4/9 AO2 2/4 AO3 4/6
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Sticky Note

Reference to theory  is a way that candidates can demonstrate K and U of the concept.



Sticky Note

The reference to Rosenthal and Jacobson needs a more secure link to the point being made. It reads as an after thought. 
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Sticky Note

This needs to be developed/explained. A common error is to refer to a relevant idea/concept but not to explain it.



Sticky Note

There is enough K and U for this answer to be placed in the top mark band. The definition is implicit. Good practice in these questions in all of the options in this section is to provide a definition in the introduction.



Sticky Note

AO1 5/6 AO2 3/4
Total 8/10
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Sticky Note

A rather weak start to what eventually becomes quite a good essay. For example source of the statistics? And who says there is a lack of interest and knowledge of the education system.
Introductions set the tone for an essay so candidates should practice writing introductions.  



Sticky Note

This paragraph has an evaluative tone.
All candidates should aim to include evaluation - positive, as here, or negative in all paragraphs. 



Sticky Note

An assertion who says this.
Candidates should avoid assertions and or generalisations.



Sticky Note

This does not quite follow.
Candidates should ensure they avoid arguments that are not entirely logical.



Sticky Note

The use of Reay and her research demonstrates the candidate is familiar with contemporary research on the issue of social class and attainment.
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Sticky Note

This link to the question saves this paragraph from being juxtaposed evaluation. 



Sticky Note



Sticky Note

The candidate has made a link to the question in this way in most candidates thereby demonstrating they are still on track with regard to the specifics of the question.
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Sticky Note

Detailed K and U. Some accurate and relevant selection of appropriate theories/concepts and evidence and some evaluation and analysis.
AO1 8/9 AO2 3/4 AO3 9/12
Total 20/25
















Either

4. (b) (i) Usingsociological evidence and examples, explain the meaning of the term labelling
in education. [10]

(i) Evaluate the view that social class is the most important reason for differences in
attainment in education. [25]
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